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�� ��������� 10% ��� 100 �������� 40%
��� 25 ��������������� 25 �����

���	�	�� an% 
��� n 
����������

a0% = 10% ���������

(1) � a1 ��� �4 ��

(2) �� an � an+1 ������ �4 ��

(3) � an ������ �7 ��

�� � q ����p ��� −q < p < q �����

a = 3q;

b = 4q − 2p;

c = 5q − 4p.

(1) �� a, b, c ���������� �4 ��

(2) � c ������ ∠C��� cos∠C ��� �5 ��

(3) � α ��� −1 � 1 ���������������
��� ABC �� AB, BC, CA ��������

cos ∠ACB = α.

�6 ��

�� �����������		�������������
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� � �

1 � � +3
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�� Æ� P1, P2����ABC��������� P1�BC, CA, AB
���� a1, b1, c1�P2 � BC, CA, AB ���� a2, b2, c2�

� P ��� P1P2 ���������

P1P

P1P2
= λ.

� P � BC, CA, AB ���� a, b, c��

(1) ��

a = (1 − λ)a1 + λa2.

�4 ��

(2) �
 P1���� ABC ������� P2���� ABC
��������� s�� P ���� ABC ����
����� s� �6 ��
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����

�� (1) ����

a1% =
100 · a0% + 25 · 40%

125
⇒ a1 = 16.

(2) ����

an+1% =
100 · an% + 25 · 40%

125
⇒ an+1 =

4

5
an + 8.

(3) �

an+1 =
4

5
an + 8

��

(an+1 − 40) =
4

5
(an − 40).

���������� 〈an − 40〉 ���� a1 − 40 =

16 − 40 = −24��� 4
5 ������	

an − 40 = (a1 − 40)

(
4

5

)n−1

��

an = 40 − 24

(
4

5

)n−1

= 40 − 30

(
4

5

)n

.

�� (1) �

a + b − c = 2q + 2p > 0

a − b + c = 4q − 2p > 2q > 0

−a + b + c = 6q − 6p > 0

���� a, b, c ���������������	

a, b, c ����������
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(2) ����
�

cos ∠C =
a2 + b2 − c2

2ab

=
9q2 + (4q − 2p)2 − (5q − 4p)2

2(3q)(4q − 2p)

=
24pq − 12p2

24q2 − 12pq

=
q

p
.

(3) � α = p
q
��� q ����p ��� −q � q ����

����� AB = 5q− 4p, BC = 3q, CA = 4q− 2p�� (1)
�� AB, BC, CA ����������� ABC��

(2) ��

cos∠ACB =
p

q
= α.

�� � f(x) = x3 − x2 + 5x− 11������� a�������
�

x3 − x2 + 5x − 11 = (x − a)
(
x2 +�x +�

)
+ 3,

� x − a �

(
x3 − x2 + 5x − 11

) − 3 = x3 − x2 + 5x − 14

����� x3 − x2 + 5x − 14 ������

x3 − x2 + 5x − 14 = (x − 2)
(
x2 + x + 7

)
.

���� a� (x−2)
(
x2 + x + 7

)
= 0����� x2+x+7 = 0

��� −1−3
√

3i
2 �������� a = 2�����

+)

21 −1 +5 −11

+2 +2 +14

1 +1 +7 +3

�� (1) �����
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A

B C

P1

P2
P

a1
a

a2

����������

λ =
P1P

P1P2
=

a − a1

a2 − a1

����

a = (1 − λ)a1 + λa2.

(2) � (1) ��������������

b = (1 − λ)b1 + λb2;

c = (1 − λ)c1 + λc2.

�������Ǳ��

a + b + c = (1 − λ)(a1 + b1 + c1) + λc2(a2 + b2 + c2)

= (1 − λ)s + λs

= s,

���
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